Lecture Notes (Italics = Handouts)

Inference About a Difference in Means

Paired Samples
Sections 10.3 and 11.3
The methods of sections 10.1 and 11.1 do not work if the samples are not independent. This is a common situation when two measurements are taken on the same individuals, often before/after or with/without, etc. (Within subjects designs)
What we do in this case is create a new data set that are the differences of the pairs, di = 
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, creating a single sample of the differences, now we use the difference to create a one-sample t-interval or do a one-sample t-test as in chapters 8 and 9. (Minitab has the “Paired t” test.)
The CI for the differences is 
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And the test statistic to test H0: µd = µ0,


t = 
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Why you must use the matched pairs design when you have dependent samples. (Paired Sample (Navidi))
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